ik
5

PR W

ik
djo

~

i,

8%6.2
(6.1.3 1REBH 6.1.4 SMRSED)

PSR

BRGSO T BRI, A TR | oo, SR T EUREE 1.2 Jo, 5 EAG
UNSRAHRR T A RS « JC, SN T A ERIRSE v o0, MR AT SEH 70 — Sx + 4y HiiA L

JRT BRI, 80 +6x = Ty LA T80, M. (1) JE ERERMWEE A2 A7 (2) WA XA
RS «, y BBALR N Z /0

g,

- HEHA

LSR5 07 B AT

2. ZIURRBI R S RO L SO A

3. BRERI SR

4 f(x,y) H 1 (x,yy) A REFRIKCR?

. R

1. Ru = Vo +y2 +%E‘Jﬁ'ﬂﬂ'§;“§&
2. RERELz = &7 = 3xy + 2" TEA(2,1) 2 IRSEL
2 2 2
s Bt = ey () s (%) (2 2,
0x ady 0z
4, RSz = 2y =327y WS
J e

L ZIueRBf(x, y) 1ER (%, 50) AEHIIRSELS, (%0, v0) H—ILRREL (%) = flx,y,) 18

A, 2 AR @' () SEAAIR] 2

2. WSR2 = fx, y) TERI(xg, 3o) IRSEUFAE, 1K 2 = f(x, y) TERI (%, 50) —FE

HELENY?



